
Accessories

MOD 1202 –Arc

Assembly instruction：

                             

    Art.No      Fitting pipeΦ   Glass thickness Screw      Packing unit 

 1202.038.304.S  φ38.1     Depend on the rubber inlay    M8*20    4pcs

 1202.042.304.S  φ42.4     Depend on the rubber inlay    M8*20    4pcs

 1202.050.304.S  φ50.8     Depend on the rubber inlay    M8*20    4pcs

304          Satin                              

   Art.No      Fitting pipeΦ   Glass thickness Screw      Packing unit 

1202.038.316.S   φ38.1    Depend on the rubber inlay    M8*20    4pcs

1202.042.316.S   φ42.4    Depend on the rubber inlay    M8*20    4pcs

1202.050.316.S   φ50.8    Depend on the rubber inlay    M8*20    4pcs

316          Satin 

 MOD       φ       H 

PGM-13  φ13mm    4.5mm    4pcs

Plastic caps

  MOD     Length    Diameter Packing unit

AQX-22    22mm    φ6.0     4pcs

Security pins


